EARAROBEEIERT — 2 N— IBISH —F 2014547188 (&) 1EI1IIK5H

PRl - — x4 —4% C1— H>%—§ B R
[A&4] 1 7% :2,000,000  ~ 23 :600,000 M . 33 :400,000  ~ 4 % :240,000 @ . 5 7 :160,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— e = s BEEXEH :35. ~6-4- . — AEEEZE (1185
i 0l3EY ETSY 4 5 55 1(3_5)3 5-6-4-2 | 39.7 1 :3&2) el
L:xA14vagR—-5— B:SEY RTrM1v— 752 RS
5 N o4 | ETEE 1:36.0 6-4-5-3 | 40.3| — 4 496 | EAE (1)
21111 J—ILTF 2 INEF > 56.0 3) on E?k?(?‘/ﬁ—l‘" ()
R:TwTNEry b BirATA L — RESRA5
y 5, 4 6 | AEHZ 1:36.1 14-14-14-11{39.0 | — 8 483 | MIEA (Aa4E)
3lgl13 7—h¥anx7 56.0 (3/8) () | TNk
L:bh—=3—-kYay B:NTILy RIN JIE 1%k
— s . P SEFRER : —13-0- — EZE (J118)
alslg|FrLovAy 7| o8 1(/3(;; 13-13-9-5 | 39.5 7 <4+713; e
X THANAN B:X2/ XYY M7 7 — L4
N o= . FHfE— :36. -7-7- . — 2RZHB (g
507012l /=TT Ty K M7 e 1(326)5 7-7-7-5 | 40.5 12 ao;) s
LTSI aEY—F BELITVLTIL R R
g . 4 7 | HTHESR 1:36.6 1-1-1-1 | 41.4| — 3 468 | R E (JI11&)
6 4| BT 1> 54.0 (1/2) ) | B) FHA-—Ly—EX
RHYYRG 4 TFR B RYE—ISTEA( R AR BEB
. > RIZHA : -5-5- — NAREZE (JI1g)
7 g| FE/ YTy > 5| RE 1(73?:? 4-5-5-5 | 41.0 5 <4+511) IR
R:Y—FLIYLLY B/ IO-YrRAI 1 45
. IRHA TS : -11-10~ — NAAZ (1)
8 0| B1 L RFIAH— 44 = 1.(316).8 12-11-10-8 | 40.2 10 (4:33 A
L:77V—hF B:EYRITIL KEKE
- S i Al :37. -10-10- . — FEAEE (GEF)
ol7li| v 121 ET X b 4 5 e (12317/23) 10-10-10-12 40.6 13 fﬁ; ;;aa@g
R:TIRATTaIN B:g=/8-U> EvJILy RT77—L4
S A o4 | WisELE 1:37.4 11-12-10-9 | 40.5 | — 9 501 | POEERSE (J111&)
10l5/7| b=FVEYTH> 56.0 (1/2) (15 | HEDE (H)
RV e INEry b B b=k X Ry —H e =hH
o st A e — EHE .38, 00 6| — WHEEE (1)
11 6 XoHHFYL 552 4t 9 jiigs 1(338)0 2-2-2-4 | 42.6 1 <4+775) %‘cma,fa
R:AYORYIA—> B:ZKIUXya hiify %
— LS 4t 4 | (EEEMSHC 1:38.2 3-32-9 |42.7| - 14 | 441 | LESE (118)
12/8|14| T¥=>Yb >z 54.0 M ) | EHEH
L:7H¥4FALINRK B:vYv=> by FOY EH {iBh
EEES 5 | BELS 1:39.5 8-8-13-13 | 43.1| — 6 492 | fEAAZ (11E)
13N 3| A MU= 56.0 ®) -6) | B 21— hETHS
R:T7HIHTFIY B Id—Y BEHFHIS
S N #1138 = -9 — - gz ()1
Xk 5 :‘FZJJ“X |\|:|/7 @ 56.0 (k) S 2 (4_716) & EREF
LTSy IaAK B:hHZYZ L ¥ Tp—L
® 1—F—@EBIERL
13=2F= 4,6,14,9,10,1,12,3,5,11,7,2,8,13
2a=5F= 4,6,14,1,9,10,12,3,5,11,2,7,8,13
§a=7r= 4,(6,14),10,(1,9),12,5,8,(2,7,11),3,13
43—+ — 4,10,1,6,(8,9,12),2,(7,14) ,13,11,3
[ N5
B 10 260M 714K 1-10 600F e E 1-6 990 JEE 1-10-13 8,990M
B B 10 1504 10-13 1,310 e B 6-1 1,280M 3EE 10-1-13 32,840
1 240/ 1-13 2,940 B & 1-10 1,470H
13 510 B H 10-1 2,150/

ABICOVWTRDTEEERROODE. TR LIV,



